(®) =000

PAGE ]

ASSEMBLY INSTRUCTION FOR
32-HD AND 39-HD

DESCRIPTION QTY.
LEFT END
RIGHT END
BACK PANEL
TOP
SHELF/BOTTOM
BASE

DOORS

NOTE: ON THE 39-HD QTY OF 3

NNNE ===



HARDWARE LIST oY

{m]ﬂ POSI-LOCK STUD

WWWWWW ADJUSTABLE GLIDE

[ -:H} SLEEVE NUT

amy)  #6x 1/2"

(; :)PULL

] #8 x 3/4" FLAT
(61\ HEAD SCREW
S

HINGE

0O @|o) HINGE PLATE
©

- LOCK CLIP

O o

( (ID LOCK BODY

O
Ej DOOR LOCK CLIP
O

]
GROMMET

WIRE CHANNEL 24"

32-HD
36

Q1Y
39-HD
40

PAGE 2



. N SHELF —————"" |e

HOLES

DO NOT PUT ANY .

POSI LOCK STUDS
IN THESE HOLES

HINGE
PLATE —f

PAGE 3

/®
7

?@ —4— PLATE

- HOLES

/f

DO NOT PUT ANY
POSI LOCK STUDS
IN THESE HOLES

N
JTTT———— sumiF / .

HINGE

HINGE
b— PLATE

LAY END PANELS ON A CLEAN SCRATCH FREE SURFACE AND INSTALL THE HINGE PLATES.

INSTALL POSI LOCK STUDS IN HOLES EXCEPT WHERE NOTED ALSO SELECT DESIRED LOCATION

FOR SHELF AND INSTALL POS! LOCK STUDS IN DESIRED HOLES.

STEP 2 —

LOCK CLIP
0 / d

LAY TOP PANEL ON A CLEAN SCRATCH FREE SURFACE AND INSTALL 2 POSI LOCK STUDS.

INSTALL LOCK CLIP USING 2 #6 X 1/2" SCREWS.




STEP 3 PAGE 4

1. THERE ARE 2 (ITEM 5) (3 IN THE 39-HD)1 IS THE SHELF 1 IS THE BOTTOM IN THE BOTTOM
INSTALL THE 2 POSI LOCK STUDS IN THE 2 HOLES PROVIDED. THE SHELF DOES NOT REQUIRE ANY
POSI LOCK STUDS.

STEP 4
G 1° O
v
o 5

1. (ITEM 7) LEFT AND RIGHT DOORS INSTALL THE 4 HINGES IN HOLES PROVIDED AND SCREW IN
WITH # 8 X 3/4" SCREWS,

2. INSTALL LOCK BODY INTO LOCK HOLE WITH #6 X 3/4" SCREWS.

3. INSTALL DRAWER PULLS USING 2 SLEEVE BOLTS IN EACH PULL.

4. INSTALL DOOR LOCK CLIP ON LEFT DOOR WITH #6 X 1/2" SCREWS.




PAGE 5

~

1.PLACE LEFT END PANEL (ITEM 1) ON A CLEAN SCRATCH FREE SURFACE.

2.WITH 2 PEOPLE INSTALL BACK PANEL {ITEM3) BY SLIDING ONTQ POSI LOCK STUDS AND LOCKING
INTO PLACE (SEE PAGE 7)

3.INSTALL THE BOTTOM (ITEM 5) USING THE SAME METHODS.

4.INSTALL THE 2 BASES (ITEM 6).

5.INSTALL THE SHELF (ITEM 5).

6 INSTALL THE TOP (ITEM 4}.

7.INSTALL THE RIGHT END PANEL (ITEM 2).

8.INSTALL THE LEVELING GLIDE INTQO BOTTOM OF THE END PANELS.

9. TURN DESK UPRIGHT INSTALL GROMMETS AND DOORS. NOTE DOORS SLIDE INTO HINGE PLATE
THEN PUSH DOWN ON BACK TO LOCK INTO PLACE ALSO DOORS CAN BE ADJUSTED FOR
ALINGMENT WITH A PHILLIPS HEAD SCREW DRIVER.

SHOULD YOU NEED ASSISTANCE CALL YOUR DEALER OR PARAGON AT
1-800-451-8546



PAGE 6

OPTIONAL

|
[
[
A
Py
Pt |
Pte ||
- |
o
7 i
\ o |
-~ |
e |
(|
N I
||
I
-~
|
NPy
g

CIRCULATION DESK PIECES CAN BE CONNECTED
TOGETHER,

1.LEVEL ALL PIECES TO BE CONNECTED.

2, THEN USING A 13/64" DRILL BIT DRILL THROUGH THE 4
PRE-DRILLED HOLES THAT WERE NOT USED ON PAGE 3.
3.INSTALL SLEEVE NUT AND BOLT AND TIGHTEN.




PAGE 7

CONNECTORS
7 e
oy S .
o5 R

POSI-LOCK CONNECTORS

— 3 ———

WIRE CHANNEL INSTALLS INSIDE CABINET ONTO BACK PANEL BETWEEN GROMMETS




